U8t tUobdbootdbootd

gboooobooooboobooooboboooooboooooboon
obooooboobooobOobooooboooobooboobooobooon
gboboogoboobooboooboooboooboobooboooobooooo
gboobooboooobobooooboooobooboooobooon
gobooobooooooobooobooooboooboo0oobooOooono

obooooboooooboo1l1oboooboobooooboooooon
obobooooobooboooboobooobooboobooobooooboogo
gboooobol1obooooboboobooobooooboooboooon
obooooobooooooobono

8.1 UUOLOUOODLDOOOOONO

obooooooooboboooooooobooboboooboooooaon
gobgbobobboboobobooobbobooboobooboadaona
gobgobooboobgooboobooboobooboooboooobo
gbooooobooooo
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obooooboooooooboboooboob1b1bobooooaon
e (0

e 0 (DDOOODUCDDODUODOOUODOONO)

e JOODO

gboboobooobooobobooooooboobooooobooooo
gboboooooooobololooboobobooooooooooann
oboooobooooobobooooboooobooboooOobooon
oobooooboooooobooooboboooogooboo

goboolbobboooboooboooobooooooobooooboooooboooo
obbooobOmuoooooooooooooobooobbooooo 100
obobooobooobobooobooboobooboobooooooboboooon
gbooooooo1l1oobogoooooooobboobooboooobooo
goooon

8.1.1 20000

oobooooob20000obo0oobooobboo1b0boooooogoo
oooo0o0o000o200000000X000Y00000200000
ooooooo10o000000000000RubyDDDOOOOOOOOO

O0: RubyOOOOOOODOODOODOOOOOOODOOOO
00000000000 RB20000000000000O00O0O0O0
ugbobooboboboboboobobobobooooooobooon
gboboooooboobooooobooboboboboboooobon

goo

class Point
attr_accessor ("x", "y")

end

0000 8.1: point.rb (0 O)

00000020000 (Point) 00 XO0O (x)0 YOO (y) OOODO
000000000000000000000000000000%,y00
0000000000000000000000000

00000000000Point.new() 0000000000000 00
(00000D0000)00000000000000000000 (34) O
00000000000000000000000000
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irb(main) :004:0> load("./point.rb")
=> true

irb(main) :005:0> p = Point.new ()

=> #<Point:0x40326168>

irb(main) :006:0> p.x = 3

=> 3

irb(main):007:0> p.y = 4

=> 4

irb(main) :008:0> p

=> #<Point:0x40326168 y=4, x=3>

BO0000Peint 0000000 D0ODO 1000000 pOOOOOOODO
0000000000 O#<Point:0x...>00000000000000O
oboooobooooboboooobobooboobobooobooboooon
oooooobooooooo

FO00M@MO0O0 XUOOO0OO0o0300YOOOOoOo4000000000
oboooboboogp.x0O0000000O0O0pO0O0O000O00O0O0O0DOO
o000 xoboooobooboooobooboobobooobooboooo
gbooobooobooobobooobooboobooobo oooboooo
O00@O0O0000 p00000O0OO0OUOODOOOUOOOOOODOOO
oboooobobooobOob x0OyOobOOoOoooOobOOoOoooobOooo

goboooooobooooboooobooooooooboooooboooooboooo
gboooooaoo

irb(main):013:0> p.y

=> 4

irb(main) :014:0> sqrt(p.x **x 2 + p.y ** 2)
=> 5.0

bodbobtopbO0OO0O0OO0O0OOO0ODODOOOOOOODOODOODODOOn

Ux,yOuoobooooo
obOoooboo200000000000000000DbO0O000000

0000000000000 000000 (D000 B2)0

0000: 00 (w,v)JO0ODOOOO0OOOOODOOOODOOOO

p = Point.new() P-X =u Py =0

gbo3gboooooooooooboboobobobobobo
000010000 point_make(u,v) 0DOOO0O0O0O00OOOOOOO
00R2A0@C00000O0UO0DUOO0O0OUOOOODOoOOUOOOO
O00ooooo (pBR 00B) 000000000
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def point_make(u,v)

p = Point.new()

P.-X = u
P.y =V
P

end

def point_scale(p,s)
point_make (p.x*s,p.y*s)

end

def point_add(p,q)
point_make(p.x+q.x, p.y+q.y)
end

def point_interpolate(p,q,t)
point_add(point_scale(p,1-t),
point_scale(q,t))

end

def point_draw(p,a)
if 0 <= p.y+0.5 && p.y+0.5 < a. length () &&
0 <= p.x+0.5 && p.x+0.5 < a[0].length()
alp.y+0.5][p.x+0.5]=1
end

end

0000 8.2: point.rb (0 O)

0000D0: 00 (2,9) 00000 p0 s 00000 (se,sy) 00000
00000 point_scale(p,s) UMM OOO00O0OOOOOOOOO
0000000000000 0O0 pO 3,4 00000C0O0ODOO
q = point_scale(p,2) 00 OIO0ODOOOOODOp0OOOOOOOO
000oooo (6,8) 000000 qOO00OnOoOO

00000: 00 (z,y) 00000 p000 (u,0)00000qO00000
000000 (z+u,y+v) 00000000000 point_add(p,q)
OO0000000000000000000000000000
ooooo
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oo0oUd:20009p, O ¢ @ (1 —¢ ODODDOOOODOOOOOO
point_interpolate(p,q,t) O point_scale, point_add 00000
000000000000 (@oooo)Doooooooooooo
00 1-t)p+tq0 000000000000 OOOOpoint_scale
Upoint_add UOODODODODOOOOOODOODOO

O000: 00000020000 a00p0000000000 point_draw(p,a)
ORd000O0000000000000U pO0O0OOOUOOOOO
oobobooobobooosbboobOobOobobOobDOoobDOon
ubobypbO0obOOobOOobObOODOOOOOOOOOOOOOOOn
oboooooboooooooon

8.1.2 00U

0000000000000000000000000002000000
0000200000 100000000000000000000000
000000000000000000000000000000000
000 2000000000000000000000000000 210
00000000 20000000000004isrb0000 showOODODO
OooO0O0Oooooo

000 20 po = (w0, 40), p1 = (z1,41) 0000000000000000

load("./max.rb")
load("./abs.rb")

def line_draw(pO,pl,a)
n=max (abs(pl.x - p0.x), abs(pl.y - pO.y))
for i in O0..n
point_draw(point_interpolate (pO,pl,i*1.0/n), a)
end

end

0000 83: line.rb

gbd0ddoobobooooobobooooooooooooo
pt) =1 —t)po+tp1 (0<t<1) (8.1)

0000000000000 ¢000000100 At0000000 p(t)
0000000000000000AtOOpe,p 0 X,YOOODOOOOOO
0000000 .000000 At=1/n00000p(t) 0 p(t+At)00
000000000000 1000000000000000000000
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O0000000000000 line draw000O0p(t) 00000000
Ugobo0b0o0bo0b0000 point_interpolate U point_draw [l
0000000 RIO0DO00000O00000O00o0DDOo0OooDooUO
ooooooooooooo

8.1.3 UU

oobooooooooooooboboooboobooon030 pe,e,pp 0000
OO0000o0O0o00oOoo0o0O0ooooOooOoDobooOoOon 200 Bézier
gbooooooooo

000U0o00o000ooo0oUooO0o0oOr»t)UDODOOODODOOOOOOOO

q(t) = (1—=1t)po +tc
a(t) = (I—-te+tp (0<t<1) (8.2)
r(t) = (1—1)q(t) +tqi(t)

O000py,cO0c¢,p; 000200 (1—-¢):¢t000000000CO0O0OOOO
000U0oo0oOooooodr-)oooo

D000 R4AUOOO0O0 30 p0, c,pl 000000000 Bézier OO0
20000 a00OD0O0ODO bezier_draw(pO,c,pl,a) DOOOODOOOO
000n000000000D0D000D0O0i0000000000000
r(i/n)J000000prevd 0000000 i—100000000000O
000000000 b0prevd0 D 00O0O0ODOODODODODOODODODODODOOO
O0prevd i— 1000000000000 0OOO

00 8.1 (D000D00OU0O0OD) DOOD0UUOUOOLDOOUOOUOOOO
0000000000000 000000000000000000 BAHD
00000 kana(O OO0OO0DOOOD0OOOOXYDOOODOOOO pOO
O0p0O 24,20+1,2:+2000 30000 Bézier OO OOODOOOOODO

a) 0000 isrb000000000O0O0O0OOO0OOOOODOOOO
ooogd
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load("./line.rb")

def bezier_draw(p0O,c,pl,a)
n = 10
prev = po
for i in 1..n

t = i*1.0/n

t)

q0 = point_interpolate(p0, c,
gl = point_interpolate(c, pl, t)

10

11

12

13

14

r = point_interpolate(q0, ql, t)
line_draw (prev, r, a)
prev = r

end

end

0000 8.4: bezier.rb

b) 000000000 O0ODOO00O0O0O00ODOO0O0O00OO mypicture()
ooooogd

O00RO0000 make_points(xy) UOXOOO YOOOOOOOO
U00000pPeint 000 0O00OODOOOOODODOOOO

00 8.2(3000) 0 RIOOOOOD r()0¢0 2000000000
000000000000000000002000(000)000000
00 300 Béziee 000040 po,co,c1,pn 0000000000000
00000000000 s() 0000000

q(t) = (1 —t)po +tco, qi(t)=(1—t)co+tcr, ¢t)=1—1t)cr +tp
ro(t) = (1 —t)qo +tqr, 7m1(t) = (1 —1t)q1 + tqo
s(t) =1 —t)rg+try

a) 00000000300 Bézier0OOOOOO bezier_draw3(p0,c0,cl,pl,a)
oogoooo
b) 0000000000000 00O000 kana3() OOOOOO

(323, 25), (210,553), (—1,361), (0,242), (—1,—71), (242, —24),
(269, 234), (307,448), (390, 347), (399, 302)

(0O0RBIODOOOS0000000O0OO0OOOODOOOODOUODOOO S
0000000OO0)o0o0oO0o0oo00OnDUO3:,3i+1,3i4+2,3i+3
00000000100 Bé&zierOOODOOOOODOODO
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load ("./point.rb")
load("./bezier.rb")
load ("./make2d.rb")

def make_points (xy)
points = Array.new(xy.length()/2)

for i in O .. points.length()-1
points[i] = point_make (xy[2*i], xy[2*i+1])
end
points
end
def kana()

a=make2d (400,400)

p=make_points ([208,70, 163,210, 56,317, 0,264,
0,196, 115,50, 250,53, 353,67,

390,149, 412,268, 237,347])
for i in 0..(p.length())/2-1
bezier_draw (p[i*2], pl[i*2+1], pl[i*2+2], a)
end
show (a)

end

goOodgd 8.5: kana.rb

¢) 0000000000000 D000O000000000O mypicture3()
goooogd

8.1.4 UU0O0OOLOOOOOO

oboooobooooobooboooboobo 1ocoooboooooaon
000000000 bezier draw(D000RA)OODOOOODOOOOO
gboobooboboooooboboooobooboooooboooboo

10000000000000 100000 OOoOOOo0O0oOoooooXxo
00yYydooooooooooDbOoOoDbOOoODOOObezier_draw 0O po
Ueodbool1ob0obO0l10boobooboobooooboon

obooooboobooobOobobooobobon0 oooooooooo
point_interpolate(pO,pl,t) OO OOODOODOOOODOODO 100
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oboboooboooooobooooobooboooboobool1ooooo 10
oboooooboobobooooooXoooyooobooooo
gbooooobooooooboooog

oboooooooobO200000000000000D00 XO0O0OY
obo2000000 100000000 0bO0O0O0oDbDO0ObOOoDOobO
gboobooboooobobooooboooobobooboobooon
ooooooooooboooXyooooooooooboooooobpoi1goo
gboooooboobooooobobooboobobooboonog

00 83 (0000000O0UOOO) po=(x0,y0),c=(xc,yc),p1 = (x1,y1)
OD0O00O0000 200 BézierOODOOODO bezier_nr(a,x0,y0,xc,yc,x1,y1)
000000000000 0000000R4U0000000oooogo
00000o0o0? (00: 00020000 X000Y0OOOOoOoOoOO
1000000000000 00000U0o0U0oUooUOooUoDOooDoOooDoOoo
0000000000000 00000000ooooon)

00 84 (0) UODODOUUOOOUODOOOODOOOOO

a) D p00000000O thetaDODDUOOOOOOOODOD rotate(p,theta)
00000000000 (z,y) 0000000 AOOOUOOODOOO
ooooooooboo

(z cos — ysin, x sinf + y cos 0)

b) DpUl00000 000020000 a00000000 circle_draw(p,r,a)
000000((@MU0: 0000000 Uo0oooOoooooooUo
ooo0oO0o0oOooooOoOoNDOOOOOO0OO0OOODOOOOO0O0¢00
0000 (0000000 2/ NOOOOOOOOOO pOOOO
Oooooooon)

82 UUULLUbUOOOLLOLUuOOOO

oobooooboooobooooboooboooobooooooooooooon

gboobooboooobobooooboooobooboooooboon
gbobobobooooooooooooooooboooboobob20000
oboooobooboooooboboooboobobooboonog

oboooboooboooooboobooogbobooooboobooooobon
gboobooboooobooboooboobooooboobooobooboooon
gbooooboboooogo
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ooooo ooooo oood
goooo goooo ooogd
ooooooo gooooao oooooon
goooooo ooooogoo oooooo

gooooobo0 oOoboboooo booooobooo
goooboobodo oOobooboooodg boooooboo

doodooooboooooooobooooooooobbooooooo
doodooooOooooooooboooooooooooboooooooo
000000000D0O000 £0000000 drawall(f,2) 00000
0dodoooboooooooboboooooooobbooooooo
0 line draw O 0O0OOO bezier draw 000 OOO0OODOOOOO0O
gogodobbooodooooobbbbooooo

def drawall(f,a)
for i in O0..f.length()
if £[i]O000000
line_draw (£f[i]O000O0 ,a)
else
if £[i]000000
bezier_draw(f[i]O000000O0DO ,a)
else
if f[i]O00000
circle_draw(£f[i1]1000000 ,a)
end
end
end
end

end

00000o0o00Uo (z,y) 00000 AOOOOUODOOOOOODOOO
oboooo

000 (-z,-y) 00000000
000000060000
000 (z,y) 00000000

gbooooboooobobooooboooobobooboobooon
obo0o0O0b0O00obO0bO0oobO0bbdbdrawall O 0OOOOOOO0OO
obooooobooobooboboooon
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obooooboooooboobooooobobooobooboooooon
gbooobooobooooboooooboooo@moomooooobooo
gboooobooboooboobooboobooboooooobooooon
oboooooooo

oboooobooooboboooobooboooobooboboooobon
0000000000000 O0U0O0(Do00oU0D)0o00D00oDO0Oo0OO
gboooobooooboboooobooooboboooboobooon
gbooooboboooooboooobooboooog

8.2.1 UU0OO0OOLOOLOOOOO

O00RIOD0O0O000O000O00O00O0 2000000000000
0000000000000 00000000RBEO0O0D Point0 OO0
00000000000 0000000000D0000000000 @00
O attr_accessor) 00 000000000000 Peint00O0OOOODO
00000000000 @o0oo0)0oooUoOooooDoUooOoo

class Point

attr_accessor ("x", "y")

def initialize(u,v)

self.x = u
self.y = v
end

def scale(s)
Point .new(self.x *x s, self.y * s)

end

def add(q)
Point .new(self.x + q.x, self.y + q.y)
end

end

gOoo0gd 8.6: oo-point.rb

Ooo000o00o0000000000o000ooo0ooooooon
gboooobooooboboooobooooboboooboobooon
gbooooboooobOoboooobooooboboooobooon
obooooooooooooo
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MODO0O0O000O000 initialize 0000000000 OOOOO
gboooooboooobobooooboooboobobooobooobooo
O000D0D0O0000DO000000D00D Point.new(3,4) 00000
obobooobooonb0x,y0 34000000 Peint000O00O0O0O0DOO
ooooog

irb(main) :005:0> p = Point.new(3,4)
=> #<Point:0x4032167c y=4, x=3>
irb(main):006:0> p.y

=> 4

000oooo0o0o0o0o0n self.x0000000O0O0Oself 0000000
ooo0ODO0O00OO0000000000ODO0O000Ob0OO Point.new(3,4)
googoobooon

1. point U0 O0OO0O0DOO0DOOODOO
2. 000000000bO00obbOOoooDOoOo 3s40oboooooDoog

3. 0000000000 self 00000OO00OO0O0ODOODOOO ODOO
obooobOoboooboooobooboobooog x,y0O 3,400
ooogd

0000000000000 oU0U0ooUUooo B2oooooooo
point_make O OO O0O0O0D0OO0OO00O0OO0ODOOOD pOOOooOoOpO
gboooboboob x,yOOouoooooooooooooooboooboooo
00000000000 0000000 (self) 000000000 %, y0
obooooboooooboboooobooooboobooboobooon
obooooboooooobooog
QUO0O0D000000000000 scale(s) 000000 sO0OO0OOO
ob0oobOob0oooboooboobOob0oboOobOoubDO pO PointO00O0O0O
OOOCOOOOp.scale(2) OOOOOODODO

irb(main):008:0> q = p.scale(2)
=> #<Point:0x40312d98 y=8, x=6>

0000 scale 0000000 point_scale(p,s) (D000 B2AD IO
0)00000000000C0O0OpU0 sOOUOOOODODOOOOOOODOO
000000000000 0O0O00OD (self)0 sO000O0O0OO0OOOOO
dddoooooobbbbob pself0000oooOobOODDOO
Point.new(x,y) U0 ODOO0OO0O0OOOODOODOOOOOOODOODOO
goo

2000000000000 (00000 M@OOC00OO0OOOOOOOO
Ruby0DOOOOO 1000000000000 O0O0DOOOOOOOOO 20
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obobooooboooooboboolbooooboooooooboooooonoo 2
gbooobobgoboobobooboboobobobobbp, O

0000 p.add(@ OOOD0O pOOOODOODOOODOODOOOODOO .add0 + 0000000
000p+¢0000000
irb(main):010:0> p.add(q) oo

=> #<Point :0x4030f544 y=12, x=9>
irb(main):011:0> p.add(q).scale(0.5)
=> #<Point:0x4030a3a0 y=6.0, x=4.5>

00 8.5 (000000000000) Peint 000000 (0000 BAH)
0000000000000000000000

a) 0 0000000 sub(q)
b) 2000 a0O0000O0O draw(a)
¢) 0qO0 (1—-+):t00000000 interpolate(q,t)

d) O0O0O0OO00O0 thetaOOOOOOOOOODOO rotate(theta)

00000 (z,y) DO0OD0OOOO0AOODOOOOOOOODOOODOOO
goooo

(x cosf — ysinb, xsin @ + y cos §)

8.2.2 UU0U0OOLOOLOUOOODLODO

obooooooboooooboobooogbobooooobooogooo
0000000000000 000000000RAODOOOOO

oboooobooooboobooooboboooooboooooaon
oboooo

edraw(a) O 0OO0O00DOOOODOO20000 a000000O

e turn(theta) D00 O0O0DOOCOOOODOOOOODODOO thetal
goooobooobooood

00000000 drawdOOUOOO0OOO line_make U line_draw 0O
dooodooooDoooooooooooooooooooooag
0000 +twrn 000000000 OOOOOOOOOOOOOOOOOO0O
O0000000D00OpPeint000000OO0OO0OODODN rotate(theta)
D000000D0 thetalOOOOOOOOODOOO0OOOOOOUORIOOO
gobobobd po,pid00boooboooboobonon

00 86 (00U0) D00UOOUD Ccircle00O0OOOOOOOOOO
goooogo
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load("./max.rb")
load("./abs.rb")
class Line

attr_accessor ("pO", "pl")

def initialize(q,r)
self .p0 = q
self.pl =r

end

def draw(a)
n = max(abs(self.pl.x - self.p0.x),
abs(self.pl.y - self.pO.y))
for i in O0..n
p = self.pO.interpolate(self.pl, i*x1.0/n)
p.draw(a)
end

end

def turn(theta)
self .p0 = self.pO.rotate(theta)
self .pil self .pl.rotate(theta)

end

end

0000 87: oo-line.rb

e 00 p000D00O-r000ODOODOOOOO initialize(p,r)
e 2000 a0O0OO0O draw(a)

e J0ODOO thetaOOOODOODOOODOO turn

8.2.3 UUU0OOLODLOUOOODLDLDDOOO

0000000000000000000((RUD Bé&ierOOOOOO)O
gbooboolobooboobobooobooboooboobooooboon
U00BezierOJOOOOOOOOOOLineOOOO0OOOOOO0OOOO0ODOO
oboooobooooooobooog

0000000 BezierOOO (D0OUDO0ORYOOOODODO
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load("./oco-line.rb")
class Bezier < Line

attr_accessor ("p0", "c", "pil")
def initialize(q,r,s)

super (q,s)

self.c =r

end

def draw(a)
n = 10
prev = self.p0
for i in 1..n
t = ix1.0/n
q0
ql = self.c. interpolate(pl, t)

self .pO.interpolate(c, t)

r = qO0.interpolate(ql, t)
Line.new(prev, r).draw(a)
prev = r

end

end

def turn(theta)

super (theta)

self.c = self.c.rotate(theta)
end

end

OO000 8.8: oo-bezier.rb

000000 00000000 @U0UO0)0000000 BezierdOO
O< Line000000O0O0O0O0O0O0O0O0OODOOOOOO0OOO LineO O
000b00b0ob0b0ob0ob0ob0ob00o0o0o0bO0O00Dn BezierOd O
ULined0000O0O0O0O0O0O0DOODOOODOODODOODOOODOOO
goooon

U000 BezierUOOOOOOOOLineOOOO0OOOOOOOOO

gooobbbo00odd Line00OUOU0OO0OODO initialize, draw, turn [
000000000 BezierDUODOUOOUOOOOOODOODOOBezierd
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000000000 000000O0Bezierd OO0 LineO0OOO0O0OOODO
goooog
U00draw00000000DO0O0O0O0O0OCODOOOBezierddogn
O0000O0M0O0 0000000000 U0oo0ooooooooooo
oboooooboboboobobooooobooogoo
Bezier U0 0O0OD00O00O0D0 draw 000000000 O0O0OODOOO
gbobobobobobobOobobob0 Lined0obonOOoOOO
oboooooobooooooo

00000000000 (initialize)JO000O0 twrn 00000000
oood

DO00000000000 2300000 tern000000000000OO
Line00O00O twrn 00000 20000000000000000000O
O00000B&ierO0DO 2000000000000000O0CO0O0OO0OO
gboooobobooobooboooobooboooog
000000000 Line0000 twrn 000000000 OODOO
O0Bezier 0O 0000000000 DOOOO0ODOOOODOOODOOOODOO
00000000000 RA000000000 super(theta) D00OO0O
00000000000000000D0 (vwrn) 000000000

00 8.7 (00000000) 0 p00000000 thetaDOOOODOD
0000 turn_at(p,theta) 00000000 p0 00000000000
()000 -p0000O0000 (2)0000000000@)p000000
00000000 move(p) 00000000000 p0000000000
000000000000000000000000000000

def turn_at(p,theta)
self .move(p.scale(-1)) #-pO0 OO 0O0OO

self.turn(theta) #0J 000000
self .move (p) #pO0O0DODODODO
end

00000 Line,Bezier 0000 RBIOOODO Circled 300000
goooobobobooooooobbboood

a) D000 p0000O0DO0ODOODDO move(p) O Line, Bezier O
O000RAOOOOO0OO circle0 3000000000000O0O0OO

b) Figure 000000000000 OOOOOOODOOOODO turn_at
ooooood

c¢) 000 Line O CircleO Figure 000 0O0OOO0O0OOOOOOOOO
O000000000000000000000 BAO turning_figure
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Oed0O01000000000OO0DOO0ODOOOOOOOOOOO
oooooooooon

include (Math)
def turning_figure ()
f1 = Line.new(Point.new(0,0),Point.new(99,99))
f2 = Circle.new(Point.new(50,50),25)
a = make2d (100,100)
for i in 0..10
f1.draw(a)
f2.draw(a)
f1.turn_at (Point.new(100,100), PI/40)
f2.turn_at (Point .new (100,100), -PI/40)
end
show (a)

end

o000 8.9: turn_at.rb

00 8.8 (30000000) 300 Bézier D0DDODD0MOD Bezier3O 0O
Bezier J00O0O0D0D0000B00 Bézier 000000000 RAODOD
ooo)

824 UUU0O0OOLODLOOOUOOLOLODOOOUOOLDODbDOO

goodoobobobooooooobobbooooooobobbooooooo
00000000 (0o0)00oo00oo0oU00o0DooUooDooUoooon
00000000 (polymorphism) 0000

D000 RINOUOOOOO drawmoon 00 DO O0O0OO0COOOOOOOO
(Line)0 0O (Bezier)O O (Circle) 0 3000000000000 D0O
f0000000000 drawall(0 000 BRI UOODOOOOOOOOO
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def drawmoon ()

pO=Point .new (0,85)

pl=Point .new(99,85)

f=[Line.new(p0,pl),
Bezier .new(p0,Point.new(50,60) ,pl),
Circle.new(Point.new(66,20) ,20)]

a=make2d (100,100)

drawall (f,a)

show (a)

end

0000 8.10: drawall.rb (0 0)

T T

def drawall(elements,a)
for i in O..elements.length()-1
elements[i].draw(a)
end
a

end

0000 8.11: drawall.rb (0 0O)

00 drawall(f,2) 00000 O00D0OO0DODO 10 100000 draw
000000000000 ([@U0)000oooo0ooooooooooo
obooooooooooboboobobD DarawdDOO0O0OODOOODO
gboobOobooboboodbdbdrawall 000 OOOOO0ODOOOO
gbobooboobooooboboooboobooboooonod
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00 89 (00) 000D RBINDOOOODOO oo-face.rb(0 0 )OO0
dddoooooobobobbbibDb sketchJodooooooODOO
U000 drawall D0 0O00O0OD0ODOODOOODOOODOODOOO

00 810 (00U0ODO) OO0 f00000C0C0OUDOOOOUOOOOUOO
000 thetaOOOOODOO turnall(f,theta) DO OOOO

00 811 (0000D0) 0000000 oo-face.rb DO0ODDOOOODO
U faceUUOOOOOO0OOOO0ODOOOO0O0O0O0O0O0O0O0O0O0O0O0O0 drawall
ob0o0400x40000000000000000O00000O0O00O

G0 00
S S

Ul facellODOOOOoooObOooboboobboooboboobobooan
gobobooobooboooo

a) 0000000000 s00000000000O000 zoom(s) O
U000 Line, Circle,Bezier U OO OUOOOOODOOOODODOO
googoogon

b) 0000 RBIR2IDDO0OO0D0OOD faces, whirl 0000000000
oboocooobooooboboooooboooon

c) JO0O0O0O0O0O0OO0OOOOO0OOOO0OOOODOOOOOOOOUOOO
oooOoOoo0o00 artO 000000

83 UuUnonQ

gobgboo: gboobooboobooboboo

class ’DDl‘ <’DD2‘

attr,accessor("’[llil[ll"’,"’DDDQ
oooooo,
OO00000ds

")

end

0000 2009 000@©@O0O0O0 146



10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

080 OO0OOOUOOOOOO (vl.19,2009/01/23 10:51:10)

include (Math)
def faces ()
a = make2d (400,400)
elements = face()
for i in 1..5
drawall (elements, a)
turnall (elements, PI/10)
end
show (a)

end

def whirl()
a = make2d (400,400)
elements = face()
for i in 1..20
for j in 0..elements.length()-1
elements [j].draw(a)
elements[j].turn(PI/15)
elements[j].zoom(0.85)
elements [j].move (Point.new (55,40))
end
end
show (a)

end

0000 812: oco-whirl.rb

DDDDDDDDDDDDDDDDDDDDDDDDD

oobooooOooboooooomc< niﬁ!IDEJDEJD[]D[]D[]D
ooooo

gbooobogobd:. 10100000000 00b00bOOobOOob0Oo0bOoOon
o0 ooooboooogn

")

DDDDDDDDDDDDDDDDDDDDDDDDDDD

0000 00000000 Oattr.accessor00gpgoono ™~ "0O0
00000000000 000000

attr,accessor("’D oo 1&,"’D 00,
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oboooob: ocoooooooooboobooooooooooooboon
OO00O0O0OOO0O00000OO0OO0OO0ORuby OO initialize O00O0O0ODO
gboboobooboooooboooobooboooogooboo

0000000000 self: DOOO0OOOODOOODOOOOOCOOOO
gboooboobooboobg self000000O0DOO0ODOO

0D0000000000000 super: 000000 super (04 ],[02],...)

ooboooobooooooobooooboooobooooooooon
ooooooooooooobooo

gboooobdob: 00booooobooboooooboaon

(0000 |new( 0,

0o

s )

>

uboboobooboooboobooboojooboo pbooono

0010000000000000 initializeOOO0OO0O0O0OO
ooooog

DDDDDDDDDDDDD:@.DDDDDD@DDDDDD

DDDDDDDDDDDDDDDDDDDDDD

[0.]/oooHo.jpooooogo,poooooooooo|ooo]

DDDDDDDDDDDDDDDDDDDD

0000000: |Oo)joo0oo|{o.)|0.],..o000000(00f
00000000000000000000[0,p000000000

gbobg|boobg pobooobgobooooboboboon

gobobooobooooobobooobooboooboboooboooon

gbooooOobooo|joooob pbobooboo obooboo

>
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